TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Ind	с.	VENDOR #3 Blagg Tire & Service		VENDOR #4 A to Z Tire & Batt	tery Inc.
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block Ellenwood, GA 3 M. Kauffman 404.762.4944 404.767.2015 (fa	0253	604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax		812 W 4th , POB Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax	
DESCRIPTION:	Est. Qty.									
NCTRCA Certified Vendor (M/Wbe) EEO-1 Dallas County Taxpayer? How were you notified? SECTION A: POLICE PURSUIT TIRES			No Yes Yes Letter from DC		Did not return thi Yes No Letter from DC <b>Note: All or Nor</b>		No Comments Yes No Comments Current Vendor		No Comments Yes Yes DC website	
<ol> <li>Type: Police Pursuit Tires</li> <li>Size P235/55R17</li> <li>Minimum Speed Rating/Load Range: W</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>340 AAA or better</li> <li>Brand: Firestone Firehawk GT Pursuit (No Substitutes)</li> <li>Specify Tire Speed Rating Being Proposed</li> <li>Specify Tire UTQG, Temperature and Traction Rating</li> </ol>	450	each	\$ 98W 340 AAA	84.95 \$38,227.50	S W AAA	88.38 \$ 39,771.00	\$ 98W 340 AAA	84.48 \$ 38,016.00	\$ 98W 400 AAA	97.60 \$ 43,920.00
Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed			Firestone Firehawk GTZ P (077325)	Pursuit	Goodyear RSA 7	732-002-	Firestone Firehawk G Pursuit 077325	Γ	Pirelli P Zero Ner Season 1523700	o All
2. Type: Police Pursuit Tires Size P235/55R17 Minimum Speed Rating/Load Range: W Minimum UTQG, Temperature and Traction Rating: 260 AA or better Brand: Goodyear Eagle RSA (No Substitutes)	350	each	\$	- \$0.00	\$	88.38 \$ 30,933.00	\$	89.87 \$ 31,454.50	\$	97.60 \$ 34,160.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed					W AAA		98W 260AA		98W 400 AAA	
Specify Manufacturer/Brand, Series and Part Number Being Proposed:					Goodyear RSA 7 500	732.002-	Goodyear Eagle RSA 732002500	260AA,	Pirelli PZERO Ne Season 1523700 (Goodyear not ava	
<ol> <li>Type: Police Pursuit Tires</li> <li>Size: P225/60R16</li> <li>Minimum Speed Rating/Load Range: V or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>260 AA or better</li> <li>Brend Constructed Einsteine Einsteine Einsteine Einsteine Einsteine</li> </ol>		each	\$	71.95 \$22,160.60	\$	69.41 \$ 21,378.28	\$	69.41 \$ 21,378.28	\$	81.16 \$ 24,997.28
Brand: Continental, Firestone Firehawk, Goodyear Eagl Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed	e		97V 340AA		V AA		97V 260AA		97V 400AA	
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Firehawk PV-41 (067911)		Goodyear RSA 7 500	732-354-	Goodyear Eagle RSA 732354500		Pirelli P6 Four Se 1609300	eason
<ol> <li>Type: Police Pursuit Tires</li> <li>Size: P225/60R18</li> <li>Minimum Speed Rating/Load Range: V or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>260 AA or better</li> <li>Brand: Continental, Firestone Firehawk, Goodyear</li> <li>Eagle or equal</li> </ol>	12	each		94.95 \$1,139.40	S	102.00 \$ 1,224.00	\$	94.48 \$ 1,133.76	S	135.82 \$ 1,629.84
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			99V 340AA		V 260AA		99V 340 AAA		100V 520AA	
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Firehawk GTV F (077342)	Pursuit	Goodyear RSA 7	732585500	Firestone Firehawk G Pursuit 077342	ΓV	Cooper CS4 2250	)4

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc.			VENDOR #3 Blagg Tire & Service			VENDOR #4 A to Z Tire & Batte	ery Inc.	
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block R Ellenwood, GA 302 M. Kauffman 404.762.4944 404.767.2015 (fax)			604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB 9 Amarillo, Tx 79105 Philip Nussbaum 806.373.2592 806.373.6504 fax		
DESCRIPTION:	Est. Qty												
<ol> <li>Type: Police Pursuit Tires</li> <li>Size: P225/70R15</li> <li>Minimum Speed Rating/Load Range: V or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>260 AA or better</li> <li>Brand: Continental, Firestone Firehawk, Goodyear Eagle</li> <li>or equal</li> </ol>		each	. \$	69.95 \$1,119.20	S	74.00 \$ 1	1,184.00	\$	71.95 \$	1,151.20	\$	73.01 \$	1,168.16
Specify Tire Speed Rating Being Proposed			100V		W			100V			100T - Not Police Rated	Pursuit	
Specify Tire UTQG, Temperature and Traction Rating Being Proposed			340AA		AAA			340AA			680AB		
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Firehawk PV-41 (067938)		Goodyear RSA 732 500	2-478-		Firestone PV41 0679	938		Kumho KR21 190	0813	
<ol> <li>Type: Police Pursuit Tires</li> <li>Size: 265/60R17</li> <li>Minimum Speed Rating/Load Range: H or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>260 AA or better</li> <li>Brand: Continental, Firestone Firehawk, Goodyear</li> <li>Eagle or equal</li> </ol>	16	each	\$	103.57 \$1,657.12	S	107.00 \$ 1	,712.00	\$	99.98 \$	1,599.68	\$	- \$	
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			113 H 600 AA		H AA			108H 260AA					
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Bridgestone Dueler HL Al (040639)	lenza	Goodyear RSA 732 500	2-605-		Goodyear Eagle RSA 732605500					
SECTION B: PERFORMANCE TIRES													
<ul> <li>7. Type: Performance Tires</li> <li>Size P215/60R15</li> <li>Minimum Speed Rating/Load Range: V or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>440 AA or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Speed Rating Being Proposed</li> <li>Specify Tire UTQG, Temperature and Traction Rating</li> </ul>	25	each	\$ 93H 460AA	66.20 \$1,655.00	S V AA	58.00 \$ 1	1,450.00	\$ 93H 580AA	61.79 \$	1,544.75	\$ V 600 AA	70.06 \$	1,751.50
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Firehawk GTA (076798)		Goodyear GT 100-	849-277		Goodyear Assurance I 738275571	Fuel		Kumho Ecsta LX2	2105983	
<ol> <li>Type: Performance Tires</li> <li>Size 215/60R16</li> <li>Minimum Speed Rating/Load Range: H or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>460 AA or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ol>	40	each	S	68.00 \$2,720.00	S	72.00 \$ 2	2,880.00	\$	68.08 \$	2,723.20	\$	81.52 \$	3,260.80
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			94V Firestone Firehawk GTV		V AA			94V 460AA			95V 600 AA		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			(076985)		Goodyear GT 100-	902-277		Firestone Firehawk G Pursuit 076985	ΓV		Kumho KU 27 EC LX 2100923	STA	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc.			VENDOR #3 Blagg Tire & Service			VENDOR #4 A to Z Tire & Batte	ery Inc.	
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block R Ellenwood, GA 302 M. Kauffman 404.762.4944 404.767.2015 (fax)			604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB 9 Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax		
DESCRIPTION:	Est. Qty.												
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/70R15</li> <li>Minimum Speed Rating/Load Range and Index: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 56 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal</li> </ol>	20 0	each	\$	51.50 \$1,030.00	S	57.00 \$	1,140.00	S	53.95 \$	1,079.00	S	62.20 \$	1,244.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			95T 560AB		T AB			95T 620AB			95S 620AB		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone FR710 (047150)	)	Goodyear Assuranc Max 738-236-571	e Fuel		Goodyear Assurance 738236571	Fuel		Toyo Extensa A/S	147460	
<ul> <li>10. Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/75R14</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 70</li> <li>AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	4	each	\$	43.50 \$174.00	S	54.30 \$	217.20	S	58.04 \$	232.16	S	63.22 \$	252.88
Specify Tire Speed Rating Being Proposed Specify Tire Load Index Being Proposed: Specify Tire UTQG, Temperature and Traction Rating Being Proposed			95S 95S 400AB		S 95 AB			958 95 400AB			T 93 640AB		
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone FR380 (098043)	)	Goodyear Ultra Grij 728-405	p 766-		Firestone FR380 098	043		Kumho KR21 190	07313	
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/70R15</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 50 AB or better</li> <li>Brand: Firestone, Bridgestone, Continental, General, Goodyear, BF Goodrich, Michelin, Uniroyal or equal</li> </ol>	8	each	\$	51.50 \$412.00	S	57.00 \$	456.00	\$	53.95 \$	431.60	S	62.20 \$	497.60
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			95S 560AB		T AB			95T 620AB			95S 620 AB		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone FR710 (047150	)	Goodyear Assuranc Max 738-236-571	e Fuel		Goodyear Assurance 738236571	Fuel		Toyo Extensa A/S	147460	
<ul> <li>12. Type: Passenger</li> <li>Highway Tread</li> <li>Size P215/70R15</li> <li>Minimum Speed Rating/Load Range: T or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 60</li> <li>AB or better</li> <li>Brand: Firestone, Bridgestone, Continental, General,</li> <li>Goodyear, BF Goodrich, Michelin, Uniroyal or equal</li> </ul>	4	each	\$	69.75 \$279.00	S	47.88 \$	191.52	\$	47.38 \$	189.52	\$	64.00 \$	256.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			97T 640AB		S AB			98S 460AB			98T 620 AB		

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc.			VENDOR #3 Blagg Tire & Service			VENDOR #4 A to Z Tire & Batt	ery Inc.	
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block Ellenwood, GA 30 M. Kauffman 404.762.4944 404.767.2015 (fax	0253		604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax		
DESCRIPTION:	Est Qty												
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Bridgestone Turanza EL 4 (045059)	400	Goodyear Integrity 047	y 402-282		Goodyear Integrity 402282047			Toyo Extensa AS	147470	
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size P215/65R16</li> <li>Minimum Speed Rating/Load Range: T or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 44</li> <li>AB or better</li> <li>Brand: Firestone, Bridgestone, Continental, General,</li> <li>Goodyear, BF Goodrich, Michelin, Uniroyal or equal</li> </ol>	4	each	n \$	65.60 \$262.40	5	67.07 \$	268.28	\$	63.95 \$	255.80	\$	65.62 \$	262.48
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			98H 460AA		T AB			98T 620AB			98T 440 AB		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Firehawk GT H (076900)		Goodyear Assurar Max 738-016-571	nce Fuel		Goodyear Assurance 738016571	Fuel		Cooper Star Fire 34020	AS	
<ul> <li>14. Type: Passenger</li> <li>Highway Tread</li> <li>Size P215/75R15</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>480 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	12	each	n \$	71.00 \$852.00	S	59.00 \$	708.00	S	63.90 \$	766.80	\$	61.85 \$	742.20
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			100S 480AB		S AB			100S 400AB			100T 640AB		
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Destination LE (146914)		Goodyear Ultragri	р		Firestone FR380 098	329		Kumho KR21 19	08013	
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size P215/60R16</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 40</li> <li>AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Speed Rating Being Proposed</li> </ol>	60 0	each	94V - UTQG 460AA	68.10 \$4,086.00	S T	57.00 \$	3,420.00	S 94V	68.08 \$	4,084.80	\$ 94T 440 AB	63.63 \$	3,817.80
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Firehawk GT (0	176985)	Goodyear Assurar Max	nce Fuel		Firestone FR380 076	985		Cooper StarFire S 34006	5F340	
<ul> <li>16. Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/60R16</li> <li>Minimum Speed Rating/Load Range: H or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>400 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	20	each		64.00 \$1,280.00	\$	70.00 \$	1,400.00	\$	65.95 \$	1,319.00	\$	65.44 \$	1,308.80
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			91H 460AA		H AA			91H 460AA			92V 400 AA		
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Firehawk GT H (076866)		Goodyear Assurar Max	nce Fuel		Firestone Firehawk G 76866	TH		Cooper Star Fire A516401	RSC20	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc.			VENDOR #3 Blagg Tire & Service			VENDOR #4 A to Z Tire & Batt	tery Inc.	
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block R Ellenwood, GA 302 M. Kauffman 404.762.4944 404.767.2015 (fax)			604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax		
DESCRIPTION:	Est. Qty.												
<ul> <li>17. Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/65R15</li> <li>Minimum Speed Rating/Load Range: H or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>400 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	6 (	each	\$	55.70 \$334.20	S	57.00 \$	342.00	S	54.95 \$	329.70	S	56.59 \$	339.54
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			92T 560AB		V AA			94V 440AA			94H 400 AA		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone FR710 (085910)	)	Goodyear Eagke G 298-277	Г 100-		Goodyear Eagle GT 100298277			Cooper Star Fire A416101	RSC 20	
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size 255/70R16</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>480 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ol>	8 6	each	\$	84.50 \$676.00	S	95.00 \$	760.00	\$	86.57 \$	692.56	\$	95.14 \$	761.12
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			109S 480AB		S AB			109S 480AB			109S 480AB		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Destination LE (147033)		Goodyear SR-A 18 418	33-601-		Firestone Destination 147033	LE		Summit Cascade l 240314	П	
<ul> <li>19. Type: Passenger</li> <li>All Season Tread</li> <li>Size P225/60R17</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>460 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	4 (	each		84.70 \$338.80	S	75.00 \$	300.00	S	75.36 \$	301.44	\$	97.14 \$	388.56
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			98H 560AB		S AB			98S 460AB			98T 620 AB		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone FR710 (084856)	)	Goodyear Integrity			Goodyear Integrity 402480477			Toyo Extensa A/S	\$ 147680	
SECTION D: LIGHT TRUCK TIRES													
20. Type: Light Truck Highway Tread Size: P235/75R16 Extra Load: XL Minimum Speed Rating/Load Range: S or better Minimum UTQG, Temperature and Traction Rating: 48 AB or better Brand: Bridgestone, Continental, Firestone, General, Conducer Michaelin Birellice acqued		each	S	85.00 \$680.00	S	86.00 \$	688.00	\$	81.95 \$	655.60	\$	113.01 \$	904.08
Goodyear, Michelin, Pirelli or equal Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			109S 480AB-SL		S AB			109S 500AB			108S 500 AB		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Destination LE (054358)		Goodyear Wrangler XL 183-680-418	SRA e 5 of 40		Goodyear Wrangler S 183680418	SRA X		Cooper ATR 055	74	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #1 Southern Tire Mart 5051 Sharp St.		VENDOR #2 Kauffman Tire Inc. 2832 Anvil Block			VENDOR #3 Blagg Tire & Service 604 S. Main St.			VENDOR #4 A to Z Tire & Bat 812 W 4th , POB	-	
			Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		Ellenwood, GA 30 M. Kauffman 404.762.4944 404.767.2015 (fax			Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax		
DESCRIPTION:	Est. Qty.												
<ul> <li>21. Type: Light Truck</li> <li>All Terrain</li> <li>Size: P255/65R17</li> <li>Minimum Speed Rating/Load Range: T or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 500</li> <li>AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal</li> </ul>		each	. S	103.30 \$2,066.00	S	110.00 \$	2,200.00	S	111.94 \$	2,238.80	\$	129.78 \$	2,595.60
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			108S 500AB-SL		S AB			108S 460AB			108T 600 AA		
Being Proposed Specify Manufacturer/Brand, Series and Part Number			Bridgestone Dueler A/T F	Revo 2	Goodyear Wrangle	er SR-A		Firestone Destinantion	n A/T		Kumho KL51 18	385213	
Being Proposed:			(081660)		183-579-418			054307					
<ul> <li>22. Type: Light Truck</li> <li>Highway Tread</li> <li>Size: 235/70R16</li> <li>Minimum Speed Rating/Load Range: T or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 400</li> <li>AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	4	each	S	82.00 \$328.00	S	96.00 \$	384.00	\$	85.42 \$	341.68	\$	86.19 \$	344.76
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			107S XL 480AB		S AB			107S 480AB			104T 680 AB		
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Destination LE (054375)	XL	Goodyear Wrangl 183-407-418	er SRA		Firestone Destination 054375	LE		Kumho KR21 19	909013	
23. Type: Light Truck Highway Tread Size: 245/70R17 Minimum Speed Rating/Load Range: S or better Minimum UTQG, Temperature and Traction Rating: 420 AB or better Brand: Bridgestone, Continental, Firestone, General, Goodvear, Michelin, Pirelli or equal		each	\$	85.50 \$1,026.00	S	106.00 \$	1,272.00	S	80.88 \$	970.56	\$	100.51 \$	1,206.12
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			108S-SL 480AB		NA AB			108S 500AB			104T 500AB		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Destination LE (087389)		Goodyear Wrangle 179-409-492	er SRA		Goodyear Wrangler S 183114470	RA		Neptune Experie HFPCR10	nce	
24. Type: Light Truck Highway Tread Size LT225/75R16 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	48	each	. <b>S</b>	76.70 \$3,681.60	S	92.00 \$	4,416.00	\$	75.94 \$	3,645.12	\$	102.72 \$	4,930.56
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			115/112R-E Firestone Transforce HT (189752)	10 ply	LR E Goodyear Wrangle 830-900	er HT 744		E Firestone Transforce I	ΗT		E/10 Summit CT 2305	16	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc.			VENDOR #3 Blagg Tire & Service			VENDOR #4 A to Z Tire & Bat	tery Inc.
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block F Ellenwood, GA 302 M. Kauffman 404.762.4944 404.767.2015 (fax)			604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax	05-9138
DESCRIPTION:	Est. Qty											
25. Type: Light Truck Highway Tread Size LT235/75R15 Minimum Load and Index Range: C or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	16	each		79.50 \$1,272.00	\$	84.00 \$	1,344.00	\$	80.95 \$	1,295.20	\$	96.42 \$ 1,542.72
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			104/101R-C Firestone Transforce HT 1 (189837)	0 ply	NA Goodyear Wrangle 744-826-802	r HT		C Firestone Transforce 189837	HT		C/6 Falken HC A/T 2	8210511
26. Type: Light Truck Highway Tread Size LT235/85R16 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	32	each		79.30 \$2,537.60	S	94.00 \$	3,008.00	\$	79.94 \$	2,558.08	\$	104.28 \$ 3,336.96
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			120/116R-C Firestone Transforce HT 1 (189718)	0 ply	NA Goodyear Wrangle 744-725-502	r HT/S		E Firestone Transforce 189718	HT		E/10 Summit CT 2305	28
27. Type: Light Truck Highway Tread Size LT245/70R17 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	4	each	\$	96.50 \$386.00	\$	106.00 \$	424.00	\$	84.12 \$	336.48	\$	153.45 \$ 613.80
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			119/116R-E Firestone Transforce HT 1 (191316)	0 ply	119/116 Goodyear Wrangle	r SR-A		E Firestone Transforce 232990	HT		E/10 Kumho KL 51 2	102873
28. Type: Light Truck Highway Tread Size LT245/75R16 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	132	each	\$	89.50 \$11,814.00	S	94.00 \$	12,408.00	\$	88.49 \$	11,680.68	\$	106.03 \$ 13,995.96
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			120/116R-E Firestone Transforce HT 1 (189769)	0 ply	120/116 Goodyear Wrangle	r HT		E Firestone Transforce 189769	НТ		E/10 Summit CT 2305	18
29. Type: Light Truck Highway Tread Size LT245/70R17 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	5	each	\$	96.50 \$482.50	S	106.00 \$	530.00	\$	84.12 \$	420.60	S	153.45 \$ 767.25
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			119/116R-E Firestone Transforce HT 1 (191316)	0 ply	E Goodyear Wrangle 179-469-492	r SR-A		E Firestone Transforce 232990	HT		E/10 Kumho KL 51 2	102873
30. Type: Light Truck Highway Tread Size LT245/75R17 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	20	each	\$	99.50 \$1,990.00	S	115.00 \$	2,300.00	\$	99.94 \$	1,998.80	\$	121.30 \$ 2,426.00
Specify Tire Load and Index Range Being Proposed:			121/118 <b>R-</b> E		112/118 E			Е			E/10	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #1 Southern Tire Mart 5051 Sharp St. Dallas, Texas 75247 Bobby Harms		VENDOR #2 Kauffman Tire Inc. 2832 Anvil Block I Ellenwood, GA 30 M. Kauffman	Rd.		VENDOR #3 Blagg Tire & Service 604 S. Main St. Grapevine, Tx 76051 Perry Leonard			VENDOR #4 A to Z Tire & Ba 812 W 4th , POB Amarillo, Tx 791 Philip Nussbaum	9138 05-9138		
			877.786.4681 214.389.7111 fax		404.762.4944 404.767.2015 (fax)	)		817.481.4578 817.796.1091 fax			806.373.2592 806.373.6504 fax	C C		
DESCRIPTION:	Est. Qty.													
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Transforce HT 1 (207483)	0 Ply	Goodyear Wrangle 179-636-492	er SR-A		Firestone Transforce 207483	HT		Neptune Creation 21299107	n		
31. Type: Light Truck Highway Tread Size LT265/75R16 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	8	each	n \$	85.50 \$684.00	\$	106.00 \$	848.00	\$	86.54 \$	692.32	\$	121.48 \$		971.84
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			123/120R-E Firestone Transforce AT 1 (189599)	0 ply	E Goodyear Wrangle 179-746-492	er SR-A		E Firestone Transforce 189786	HT		E/10 Summit CT 2307	719		
<ul> <li>32. Type: Light Truck</li> <li>All Terrain</li> <li>Size LT265/75R16</li> <li>Minimum Load and Index Range: E or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	4	each	n \$	87.35 \$349.40	S	106.00 \$	424.00	\$	87.88 \$	351.52	\$	121.48 \$		485.92
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			123/120R-E Firestone Transforce AT 1 (189599)	0 ply	E Goodyear Wrangle	er SR-A		E Firestone Transforce 196858	AT		E/10 Summit CT 2307	719		
33. Type: Light Truck Highway Tread Size LT265/70R17 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	20	each	n \$	104.00 \$2,080.00	\$	125.00 \$	2,500.00	\$	104.33 \$	2,086.60	\$	125.67 \$	2,	513.40
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			121/118R-E Firestone Transforce HT 1 (200156)	0 ply	E Goodyear Wrangle	er SR-A		E Firestone Transforce 200156	HT		E/10 Neptune Creation 21299108	n		
34. Type: Light Truck All Terrain Size LT265/70R17 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	4	each	n \$	109.40 \$437.60	\$	129.00 \$	516.00	\$	112.40 \$	449.60	\$	125.67 \$		502.68
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			121/118R-E Firestone Transforce AT 1 (200190)	0 ply	E Goodyear Wrangle 179-696-217	er SR-A		E FS Transforce ATE	200190		E/10 Neptune Creation 21299108	n		
<ul> <li>35. Type: Light Truck</li> <li>All Terrain</li> <li>Size LT275/65R18</li> <li>Minimum Load and Index Range: E or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	30	each	n \$	122.50 \$3,675.00	\$	145.00 \$	4,350.00	\$	129.10 \$	3,873.00	\$	206.07 \$	6,	182.10
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			123/120S-E Firestone Transforce AT I (200207)	0 ply	E Goodyear Wrangle Tra 312-011-142	er Dura		E Firestone Transforce 200207	AT		E/10 Kumho KL 78 1	904913		

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc			VENDOR #3 Blagg Tire & Service			VENDOR #4 A to Z Tire & Bat	tery Inc.	
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block Ellenwood, GA 30 M. Kauffman 404.762.4944 404.767.2015 (fax	0253		604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax	05-9138	
DESCRIPTION:	Est. Qty.												
36. Type: Light Truck All Terrain Size LT325/60R18 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	4	each	. \$	264.00 \$1,056.00	\$	195.00 \$	780.00	\$	153.20 \$	612.80	\$	254.91 \$	1,019.64
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			E Hankook BHK DynaPro (2001427)	10 ply	E Goodyear Wrangl Trac 312-011-142			E Firestone Destination 192353	n AT		D/8 Kumho KL 78 8	177	
<ol> <li>Type: Light Truck</li> <li>Highway Tread</li> <li>Size: 9.50R16.5 LT</li> <li>Minimum Load and Index Range: E or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Load and Index Range Being Proposed:</li> </ol>	2	each	\$ 121/117R-E	92.70 \$185.40	\$ E	125.49 \$	250.98	\$ E	99.00 \$	198.00	\$	- \$	-
Specify The Load and Index Range Being Proposed. Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone Transforce HT (189820)	10 Ply	E Goodyear Work H 218-090	Iorse 312-		E Firestone Transforce 189820	HT				
SECTION E: MEDIUM AND COMMERCIAL TRUCK TIRES													
<ol> <li>Type: Medium and Commercial Truck Tires Tube Type</li> <li>Position: Steer/all-position</li> <li>Size: 10R20</li> <li>Minimum Load and Index Range: H or better</li> <li>Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ol>	20	each	S	270.00 \$5,400.00	S	265.00 \$	5,300.00	\$	259.94 \$	5,198.80	\$	281.05 \$	5,621.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Firestone T-819 16 ply (2	294497)	H Goodyear G287 N 377-667	4SA 138-		H Goodyear G287MSA 138377667	A		H/16 Samson GL88 61	188865	
<ol> <li>Type: Medium and Commercial Truck Tires Position: All Position Highway</li> <li>Size: 10.00R20</li> <li>Minimum Load and Index Range: G or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal</li> </ol>	4	each	\$	270.00 \$1,080.00	S	265.00 \$	1,060.00	S	259.94 \$	1,039.76	\$	281.05 \$	1,124.20
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Firestone T-819 16 ply (2	294497)	H Goodyear G287 N 377-667	/ISA 138-		H Goodyear G287MSA 138377667	A		H/16 Samson GL88 61188865		
40. Type: Medium and Commercial Truck Tires Position: Drive Axle Tube Type Size: 10R20 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	18	each	\$ 	268.00 \$4,824.00	Ş	300.00 \$	5,400.00	S	288.88 \$	5,199.84	\$	304.37 \$	5,478.66
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Firestone T-546 16 ply (?	294721)	H Goodyear G177 231	138-377-		H Goodyear G177 13	8377667		H/16 Kumho 943 596	031	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc	2.		VENDOR #3 Blagg Tire & Service			VENDOR #4 A to Z Tire & Ba	ttery Inc.	
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block Ellenwood, GA 30 M. Kauffman 404.762.4944 404.767.2015 (fax	0253		604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB Amarillo, Tx 791 Philip Nussbaum 806.373.2592 806.373.6504 fay	05-9138	
DESCRIPTION:	Est. Qty.												
<ul> <li>41. Type: Medium and Commercial Truck Tires</li> <li>Position: All Position</li> <li>Tubeless</li> <li>Size: 10R22.5</li> <li>Minimum Load and Index Range: G or better</li> <li>Brand: Bridgestone, Continental, Firestone, Goodyear,</li> <li>Michelin, Yokohama or equal</li> </ul>	8	each	. \$	223.00 \$1,784.00	\$	250.00 \$	2,000.00	S	237.30 \$	1,898.40	\$	207.34 \$	1,658.72
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			G Firestone FD560 14 ply	(193050)	F Goodyear G622 F 947-265	RSD 138-		G Firestone FS560 Plu 193050	IS		G/14 Samson GL 74 (	61107404	
42. Type: Medium and Commercial Truck Tires Position: Steer/All Position Sidewall protector ribs Size: 11R22.5 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	12	each	\$	241.00 \$2,892.00	S	275.00 \$	3,300.00	S	224.10 \$	2,689.20	\$	220.62 \$	2,647.44
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Bridgestone R250ED - 1 Sidewall Protectors (2069		H Goodyear G149 F 802-919	RSA 138-		H Dunlop SP160 271	108673		H/16 Cooper RM 185	92036	
43. Type: Medium and Commercial Truck Tires Position: Steet/All Position Protector ribs on both sidewalks Size: 11R22.5 Minimum Load and Index Range: G or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal		each	. S	245.00 \$980.00	\$	275.00 \$	1,100.00	\$	224.10 \$	896.40	S	211.08 \$	844.32
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			G Bridgestone R250F 14 - Protectors (290661)	Sidewall	H Goodyear G149 F 802-919	RSA 138-		H Dunlop SP160 271	108673		G/14 Cooper RM 185	92034	
<ul> <li>44. Type: Medium and Commercial Truck Tires Position: Drive Axle</li> <li>Size: 11R22.5</li> <li>Minimum Load and Index Range: G or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ul>	4	each	S	237.00 \$948.00	S	290.00 \$	1,160.00	\$	228.50 \$	914.00	S	233.63 \$	934.52
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			G Firestone FD663 14 Ply	(281042)	G Goodyear G362 I	Drive		H Firestone FD663 2	11206		G/14 Cooper RM 275	92134	
<ul> <li>45. Type: Medium and Commercial Truck Tires Position: Steer/All Position Sidewall protector ribs Size: 11R24.5</li> <li>Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ul>	92	each	\$	271.00 \$24,932.00	\$	315.00 \$	28,980.00	\$	235.99 \$	21,711.08	\$	244.16 \$	22,462.72
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Bridgestone R250ED 16 Sidewall Protectors (206		H Goodyear G287 662	138-798-		H Dunlop SP 160 271	1086760		H/16 Cooper RM 185	92056	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc			VENDOR #3 Blagg Tire & Service	9		VENDOR #4 A to Z Tire & Ba	ttery Inc.	
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block Ellenwood, GA 30 M. Kauffman 404.762.4944 404.767.2015 (fax	0253		604 S. Main St. Grapevine, Tx 7605 Perry Leonard 817.481.4578 817.796.1091 fax	1		812 W 4th , POB Amarillo, Tx 791 Philip Nussbaum 806.373.2592 806.373.6504 faz	05-9138	
DESCRIPTION:	Est. Qty.												
<ul> <li>46. Type: Medium and Commercial Truck Tires Position: Steer/All Position Protector ribs on both sidewalks Size: 12R22.5 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ul>	4 0	each	S	285.00 \$1,140.00	S	365.00 \$	1,460.00	\$	264.28 \$	1,057.12	\$	306.36 \$	1,225.44
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Bridgestone R250F 16 Pl Sidewall Protectors (2928		H Goodyear G287 662	138-864-		H Firestone T819 15	7341		H/16 Cooper RM 230 93322	НН	
47. Type: Medium and Commercial Truck Tires Position: Steer/All Position Protector ribs on both sidewalks Size: 225/70R19.5 Minimum Load and Index Range: F or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	24 0	each	\$	183.00 \$4,392.00	S	212.00 \$	5,088.00	S	193.82 \$	4,651.68	\$	136.84 \$	3,284.16
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			F Bridgestone R250 12 Ply Sidewall Protectors (1530		F Goodyear G647 053	139-418-		F Firestone FS560Plu 160716	IS		F/12 Cooper RM170	95802	
<ol> <li>Type: Medium and Commercial Truck Tires Position: Steer/All Position Sidewall protector ribs Size: 245/70R19.5 Minimum Load and Index Range: F or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ol>	8 0	each		208.00 \$1,664.00	S	240.00 \$	1,920.00	S	199.07 \$	1,592.56	\$	161.78 \$	1,294.24
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			F Bridgestone R250 12 Ply Sidewall Protectors (2998		F Goodyear G647 080	139-178-		F Firestone FS560 1	69981		G/14 Cooper RM170	95801	
49. Type: Medium and Commercial Truck Tires Position: Steer/All Position Protector ribs on both sidewalks Size: 245/70R19.5 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	8 (	each	\$	199.15 \$1,593.20	S	220.00 \$	1,760.00	S	219.95 \$	1,759.60	\$	237.68 \$	1,901.44
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Bridgestone R250 16 Ply Sidewall Protectors (2772		H Goodyear RHS II 297	756-766-		H GY Regional RHS 756766297			H/16 Toyo M143 788	3291	
50. Type: Medium and Commercial Truck Tires Position: Steer Sidewall protector ribs Size: 255/70R22.5 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	8 0	each	S	222.00 \$1,776.00	S	246.00 \$	1,968.00	\$	213.03 \$	1,704.24	\$	181.14 \$	1,449.12
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Bridgestone R250 ED 16 Sidewall Protectors (2165		H Goodyear G169 F 780-519	RSA 756-		H Dunlop SP160 271	128871		H/16 Cooper RM120	92322	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the		VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Ind	c.	VENDOR #3 Blagg Tire & Service	e	VENDOR #4 A to Z Tire & Batte	ery Inc.
Purchase of Tires and Tubes Opening Date:06-Dec-2010		5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block Ellenwood, GA 3 M. Kauffman 404.762.4944 404.767.2015 (fa:	0253	604 S. Main St. Grapevine, Tx 7605 Perry Leonard 817.481.4578 817.796.1091 fax	1	812 W 4th , POB 9 Amarillo, Tx 79105 Philip Nussbaum 806.373.2592 806.373.6504 fax	
DESCRIPTION:	Est. Qty.								
51. Type: Medium and Commercial Truck Tires Position: Steer/All Position Sidewall protector ribs Size: 295/75R22.5 Minimum Load and Index Range: G or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal		ach \$	235.90 \$943.60	S	230.00 \$ 920.00	\$	224.51 \$ 898.04	\$	209.63 \$ 838.52
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:		G Bridgestone R250 14 Sidewall Protectors (2		G Dunlop SP160 2 795	271-108-	G Dunlop SP160 271	1108795	G/14 Cooper RM 185 9	02053
52. Type: Medium and Commercial Truck Tires Size: 11.00R22 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	6 e	ach \$	365.00 \$2,190.00	\$	405.00 \$ 2,430.00	\$	359.76 \$ 2,158.56	\$	294.10 \$ 1,764.60
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:		H Firestone T819 16 pl	y (294527)	H Goodyear G177		H Goodyear G287MS 138384667	Â	H/16 General MSL 0539110000	
SECTION F: OFF ROAD /CONSTRUCTION/AGRICULTURE/INDUSTRIA /SPECIALTY EQUIPMENT TIRES	L								
53. Type: Off-Road/Construction Equipment Skid Steer Loader Tire Size: 12-16.5NHS Minimum Load and Index Range: F or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	8 e	ach \$	126.00 \$1,008.00	\$	130.00 \$ 1,040.00	\$	136.59 \$ 1,092.72	\$	144.20 \$ 1,153.60
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:		F Supermax EM Loade (OTD 4052A-MD)	r RG 12 ply	12 ply Carlise NHS Trac	c	F Samson 16056-2		E/10 Samson Skid 4111	6055
54. Type: Off-Road/Construction Equipment Tire Compactor Roller Tread Type: Smooth/Slick Size: 8.50/90-15K Minimum Load and Index Range: C or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	8 e	ach \$	158.00 \$1,264.00	S	- \$ -	\$	158.95 \$ 1,271.60	\$	- S -
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:		C Carlisle Compactor T (58R3A2)	L 6 Ply			6 Carlisle Road Rolle	er 58R3A2		
55. Type: Off-Road/Construction Equipment Tire Road Grader Tire Tread Type: Traction Size: 14.00R24 Ply Rating: 1 Star or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	12 e	ach \$	745.00 \$8,940.00	S	400.00 \$ 4,800.00	\$	695.00 \$ 8,340.00	\$	763.15 \$ 9,157.80
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:		1* Bridgestone VUT 1*	(293954)	12 ply Titan 37C 344		1* Bridgestone Vsteel Tract 293954	Ultra	18/2* Samson G2 41400	

TABULATION SHEET     VENDOR #1       Bid No. 2011-025-5349 Annual Contract for the     Southern Tire Mart       Purchase of Tires and Tubes     Function of the state of the stat				VENDOR #2 Kauffinan Tire Inc.				VENDOR #3 Blagg Tire & Service	e		VENDOR #4 A to Z Tire & Battery Inc.			
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block Ellenwood, GA 30 M. Kauffman 404.762.4944 404.767.2015 (fax	0253			604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB 9138 Amarillo, Tx 79105-9138 Philip Nussbaum 806.373.2592 806.373.6504 fax		
DESCRIPTION:	Est. Qty.													
<ul> <li>56. Type: Type: Agriculture/Industrial Equipment</li> <li>3 Rib</li> <li>Size: 6.00-16</li> <li>Minimum Load and Index Range: C or better</li> <li>Brand: Armour, Bridgestone, Carlisle, Goodyear,</li> <li>Michelin, Samson, Titian, Toyo or equal</li> </ul>	2	each	\$	59.00 \$118.00	\$	60.00	5 120.	.00	S	79.95 \$	159.90	\$	50.86 \$	101.72
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			C Deestone D401 3RIB TT (DS5125)	6 ply	3 Rib 6 ply Carlise 52F 275				6 Firestone Champion Rib	1 Guide 3		C/6 Samson F2 708	3556	
57. Type: Type: Agriculture/Industrial Equipment 3 Rib Size: 7.50-16 Minimum Load and Index Range: D or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	2	each	s .	84.00 \$168.00	S	95.00	5 190.	.00	S	119.95 \$	239.90	\$	86.57 \$	173.14
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			D Deestone D401 3RIB TT (DS5128)	8 ply	3 Rib 8 ply Carlise 52F384				8 Firestone Champion Rib	1 Guide 3		D/8 Samson F2 708	3560	
58. Type: Loader Tire Tread Type: Traction Size: 10.00-16.5 Minimum Load and Index Range: E or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	2	each		113.00 \$226.00	\$	115.00	\$ 230.	.00	\$	106.80 \$	213.60	\$	119.75 \$	239.50
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			E Supermax EM Loader R/ (OTR 4050A-MD)	/G 10 ply	10 ply Carlise 570140				10 Samson 16052-2			E/10 Samson Samson Skid 70	)4700	
59. Type: Loader Tire Tread Type: Traction Size: 20.5-25 Minimum Load and Index Range: H or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	2	each	\$	880.00 \$1,760.00	\$	950.00	\$ 1,900.	.00	\$	988.00 \$	1,976.00	\$	997.03 \$	1,994.06
Specify Tire Load and Index Range Being Proposed:			Н		L2 16 ply				FS Super Rock Grij 414646	0 20		H/16		
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Firestone SGG 16 Ply (4	08492)	Titan 431521				414040			Samson L2 300	5854	
60. Type: Loader/Grader Tire Tread Type: Traction Size: 23.5-25 Minimum Load and Index Range: H or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	6	each	\$	1,100.00 \$6,600.00	S	950.00	\$ 5,700.	.00	\$	1,069.00 \$	6,414.00	\$	1,257.66 \$	7,545.96
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			H Firestone SGG 16 Ply (4	05221)	L2 16 ply Titan 431523				16 FS Super Ground C 405221	irip		H/16 Samson L2 306	5856	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes			VENDOR #1 Southern Tire Mart		VENDOR #2 Kauffman Tire Inc.			VENDOR #3 Blagg Tire & Service		VENDOR #4 A to Z Tire & Bat	tery Inc.	
Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block 1 Ellenwood, GA 30 M. Kauffman 404.762.4944 404.767.2015 (fax	0253		604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax		812 W 4th , POB Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax	05-9138	
DESCRIPTION:	Est. Qty.											
61. Type: Loader/Grader Tread Type: Rock Size: 15.5- 25 Minimum Load and Index Range: F or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	2	each	\$	521.00 \$1,042.00	\$	350.00 \$	700.00	\$	499.00 \$ 998.00	\$	476.49 \$	952.98
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			F Firestone SGG 12 Ply (42	25248)	L2/G2 12 ply Titan LG3120			12 FS Super Ground Gr 425248	ip	F/12 Samson L2 3068	50	
62. Type: Off-Road/Construction Equipment Compactor Tire - Bias Tread Type: Smooth/Slick Size: 7.5-15 Minimum Load and Index Range: F or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	24	each	S	170.00 \$4,080.00	S	75.00 \$	1,800.00	S	152.95 \$ 3,670.80	\$	161.68 \$	3,880.32
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			F Titan Road Roller 12 ply (3GR252F)		3 Rib 6 Ply Carlise 52F290			12 Carlisle Road Roller	58R252	G/14 Samson Road Ro 98110	ller	
SECTION G: TRAILER TIRES												
63. Type: Trailer Bias Size: 9.50 x 16.5 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	6	each	\$	112.00 \$672.00	\$	125.00 \$	750.00	\$	99.00 \$ 594.00	\$	135.73 \$	814.38
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			E Deestone D902 HWY TL (1295)	. 10 Ply	E Work Horse Rib 3 090	312-218-		E Firestone Transforce 189820	HT	F/12 Samson Traker 13	8053	
64. Type: Trailer Radial Size: 10.00R15 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	12	each	\$	258.00 \$3,096.00	S	260.00 \$	3,120.00	\$	258.00 \$ 3,096.00	\$	345.44 \$	4,145.28
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			J Power King TR615 HWY with tube & flap (CZ-62)	(18 Ply	G Dunlop SP160 27 047	71-130-		G Dunlop SP160 2711	30047	G/14 Toyo M109 781	1293	
65. Type: Trailer Radial Size: ST185/R14 Minimum Load and Index Range: D or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	4	each	\$	60.00 \$240.00	\$	75.00 \$	300.00	\$	80.18 \$ 320.72	\$	98.54 \$	394.16
Specify Tire Load and Index Range Being Proposed:			D		C 195/75R14 Hig Capacity	gher Load		D		D/8		
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Federal Ecovan 8 ply (37	/8C4AJ)	Goodyear Wrangle	er AT		Nexen SV820		Kumho 857 157	5013	
66. Type: Trailer Radial Size: ST225/75R15 Minimum Load and Index Range: E or better Parade Carliele. Conclusur, Marsia Titian en event	4	each	\$	84.00 \$336.00	\$	78.00 \$	312.00	\$	76.02 \$ 304.08	\$	65.35 \$	261.40

Brand: Carlisle, Goodyear, Maxxis, Titian or equal

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the					VENDOR #2 Kauffman Tire Inc.			VENDOR #3 Blagg Tire & Service			VENDOR #4 A to Z Tire & Batt	ery Inc.	
Purchase of Tires and Tubes Opening Date:06-Dec-2010			5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		2832 Anvil Block R Ellenwood, GA 302 M. Kauffman 404.762.4944 404.767.2015 (fax)			604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			812 W 4th , POB 9 Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax		
DESCRIPTION:	Est. Qty.												
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			E Supermax Triangle ST 10 (STR-6009-TR)	ply	E Carlise 5198221			D Marathon 7621734	)6		E/10 Gladiator QR 25 1142002253		
67. Type: Trailer Radial Size: ST205/75R15 Minimum Load and Index Range: C or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal Specify Tire Load and Index Range Being Proposed:	4	each	C	63.00 \$252.00	\$ C	68.00 \$	272.00	\$ C	68.00 \$	272.00	\$ C/6	53.08 \$	212.32
Specify Ane Load and mock Range Being Proposed. Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Supermax Triangle ST 6 p 6003-TA)	bly (STR-	Goodyear Maratho 171-406	n 762-		Marathon 76217104	6		Gladiator QR25 1142002051		
68. Type: Trailer Radial Size: ST205/75R15 Minimum Load and Index Range: D or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	4	each	s .	68.00 \$272.00	\$	63.00 \$	252.00	\$	68.00 \$	272.00	\$	54.44 \$	217.76
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			D Supermax Triangle ST 8 F 6007-TA)	Ply (STR-	D Carlise 5198081			C Marathon 76217140	6		D/8 Gladiator QR 25 1142002052		
69. Type: Trailer Bias Size: ST205/75D14 Minimum Load and Index Range: C or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	2	each	\$	60.00 \$120.00	\$	58.00 \$	116.00	\$	58.25 \$	116.50	\$	49.92 \$	99.84
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			C Supermax N622 ST ST 6 (STB2232)	Ply	C Goodyear Maratho 176-406	n 762-		C Marathon 76217640	6		C/6 (Bid A Radia Gladiator QR25 1142002041	d)	
70. Type: Trailer Bias Size: ST195/75D14 Minimum Load and Index Range: C or better	2	each	\$	62.00 \$124.00	\$	75.00 \$	150.00	\$	74.95 \$	149.90	\$	- \$	-
Brand: Carlisle, Goodyear, Maxxis, Titian or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			C Carlisle Sure Trail ST 6 P (519306)	ly	C Wrangler AT 740-	837-399		C GY Wrangler AT 74	0837399				
71. Type: Trailer Radial Size: ST235/80R16 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	12	each	\$	92.00 \$1,104.00	\$	92.00 \$	1,104.00	\$	93.00 \$	1,116.00	\$	81.38 \$	976.56
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			E Supermax Triangle ST 10 (STR 606-TA)	Ply	E Goodyear Maratho 394-406	n 762-		E Marathon 76239440	6		E/10 Gladiator QR25 1142002863		
72. Type: Trailer Bias Size: 7.50-16 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	4	each	\$	72.00 \$288.00	S	110.00 \$	440.00	\$	112.00 \$	448.00	\$	72.57 \$	290.28
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			E Supermax Hwy ST 10 Ply 4005A-ZW)	e (STB	E Goodyear Work Ho 100-090	orse 312-		E GY Workhorse Rib 312100090			E/10 Carlisle Trl 5193	021	

## Page 15 of 40

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			Southern Tire Mart		VENDOR #2 Kaufiman Tire Inc. 2832 Anvil Block Rd.			VENDOR #3 Blagg Tire & Service 604 S. Main St.			VENDOR #4 A to Z Tire & Batt 812 W 4th , POB 9	-	
1 8			Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax		Ellenwood, GA 302 M. Kauffman 404.762.4944 404.767.2015 (fax)	53		Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax			Amarillo, Tx 7910 Philip Nussbaum 806.373.2592 806.373.6504 fax	5-9138	
DESCRIPTION:	Est. Qty												
73. Type: Trailer Bias Size: 700-15LT Minimum Load and Index Range: D or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	4	each	1 \$	58.00 \$232.00	S	95.00 \$	380.00	S	97.00 \$	388.00	S	57.79 \$	231.16
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			D Supermax Hwy ST TL 8 P 4004A-ZW)	ly (STB	D Goodyear WorkHor 049-090	rse 312-		D GY Workhorse Rib 312049090			D/8 Carlisle Trl 51930	011	
SECTION H: TUBES													
74. Type: Tube Size: 7.50 x 15 w/TR440 Valve Stem Brand: Carlisle, Goodyear, National, Solid, or equal	20	each	1 \$	9.00 \$180.00	\$	11.63 \$	232.60	\$	12.53 \$	250.60	\$	12.00 \$	240.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Gateway TR150 (1ER36)		Carlise 322450			Various included abo	ve		Doberman TR440	62503	
75. Type: Tube Size: 10.00R15 Brand: Carlisle, Goodyear, National, Solid, or equal	12	each	1 \$	18.40 \$220.80	\$	15.62 \$	187.44	\$	17.62 \$	211.44	\$	17.00 \$	204.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Gateway TR78 (1CE08)		Carlise 322130			Various included abo	ve		Doberman TR440	62504	
76. Type: Tube Size: 10.00R20	20	each	1 \$	21.60 \$432.00	\$	20.79 \$	415.80	\$	24.06 \$	481.20	\$	18.00 \$	360.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Gateway TR444 (1EK65)		Carlise 322100			Various included abo	ve		Doberman TR444	31006	
77. Type: Tube Size: 11R20 Brand: Carlisle, Goodyear, National, Solid, or equal	6	each	1 \$	26.60 \$159.60	\$	26.96 \$	161.76	\$	32.43 \$	194.58	\$	23.00 \$	138.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Gateway TR444 (1EK69)		Carlise 322110			Various included abo	ve		Doberman TR444	31008	
78. Type: Tube Size: 11R22 Brand: Carlisle, Goodyear, National, Solid, or equal	6	each	1 \$	28.90 \$173.40	\$	30.30 \$	181.80	\$	33.90 \$	203.40	\$	27.00 \$	162.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Gateway TR444 (1EK-67)	)	Carlise 322280			Various included abo	ve		Doberman TR444	061787	
79. Type: Tube Size: 112-12.41 x 28 Brand: Carlisle, Goodyear, National, Solid, or equal	4	each	1 \$	39.00 \$156.00	\$	32.05 \$	128.20	\$	38.02 \$	152.08	\$	28.00 \$	112.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Solid Tire TR218A (4200	Carlise 323591			Various included above			Doberman TR 218A 41026			

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010	VENDOR #1 Southern Tire Mart 5051 Sharp St.	VENDOR #2 Kauffman Tire Inc. 2832 Anvil Block Rd.	VENDOR #3 Blagg Tire & Service 604 S. Main St.	VENDOR #4 A to Z Tire & Battery Inc. 812 W 4th , POB 9138
. F 9	Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax	Ellenwood, GA 30253 M. Kauffman 404.762.4944 404.767.2015 (fax)	Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax	Amarillo, Tx 79105-9138 Philip Nussbaum 806.373.2592 806.373.6504 fax
DESCRIPTION: Est. Qty				
SECTION I: DISCOUNT FOR TIRES/TUBES THAT ARE NOT SPECIFICALLY LISTED IN THE BID (Note: This Section will be awarded on the all or none basis) Bidders are to state the percentage of discount allowed for all tires/tubes offered from the published price list, sheet and/or schedule. Note: Not all tires/ tubes required by the County are listed on the bid proposal sheet. The County will use the price list, sheet and/or schedule and discount offered by the awarded contractor for those sizes and types not listed.				
<b>Tire Category Type: Police Pursuit</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	1) 46% - Firestone , Jan 1 2010 Confidential Government Catalog Pricing, Annually	50%, Brand: Goodyear, Apr 1 2010, Annually	0%, Brand: GY or TXMAS, Annually Updated	No Bid This Section
<b>Tire Category Type: Performance/High Speed</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	1) 20% - Brand: Firestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually 2) 10% Brand: Bridgestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually	50%, Brand: Goodyear, Apr 1 2010, Annually	0%, Brand: GY or TXMAS, Annually Updated	No Bid This Section
<b>Tire Category Type: Passenger</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	1) 20% - Brand: Firestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually 2) 10% Brand: Bridgestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually	48%, Brand: Goodyear, Apr 1 2010, Annually	0%, Brand: GY or TXMAS, Annually Updated	No Bid This Section
<b>Tire Category Type: Light Truck</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	1) 20% - Brand: Firestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually 2) 10% Brand: Bridgestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually	48%, Brand: Goodyear, Apr 1 2010, Annually	0%, Brand: GY or TXMAS, Annually Updated	No Bid This Section
<b>Tire Category Type: Medium Truck</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	1) 18% - Brand: Firestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually 2) 10% Brand: Bridgestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually	42%, Brand: Goodyear, Apr 1 2010, Annually	0%, Brand: GY or TXMAS, Annually Updated	0%
<b>Tire Category Type: Commercial Truck</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	1) 18% - Brand: Firestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually 2) 10% Brand: Bridgestone, Jan 1 2010 Confidential Government Catalog Pricing, Annually	42%, Brand: Goodyear, Apr 1 2010, Annually	0%, Brand: GY or TXMAS, Annually Updated	0%

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010	VENDOR #1 Southern Tire Mart 5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax	,	VENDOR #2 Kauffman Tir 2832 Anvil B Ellenwood, C M. Kauffman 404.762.4944 404.767.2015	e Inc. lock Rd. 3A 30253 4	VENDOR #3 Blagg Tire & S 604 S. Main S Grapevine, Tx Perry Leonard 817.481.4578 817.796.1091	t. 76051	A to Z Tire & 812 W 4th , I Amarillo, Tx Philip Nussba 806.373.2592	VENDOR #4 A to Z Tire & Battery Inc. 812 W 4th , POB 9138 Amarillo, Tx 79105-9138 Philip Nussbaum 806.373.2592 806.373.6504 fax		
DESCRIPTION: Est. Qty.										
<b>Tire Category Type: Off -The-Road/Construction</b> <b>Truck</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	<ol> <li>14% Small OTR a Medium/Large OTR Firestone, Jan 1 201 Confidential Govern Pricing, Annually 22 Bias, 25% Small OT 20% Medium/Large Brand:Bridgestone, Confidential Govern Pricing, Annually</li> </ol>	- Brand: 0 ment Catalog 14% Small R Radial and OTR - Jan 1 2010	0%, Brand: C 1 2010, Annu	Goodyear, Apr Ially	0%, Brand: G Annually Upd		0%			
<b>Tire Category Type: Farm/Agriculture</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	40%, Brand: Titan , Semi-Annually	40%, Brand: Titan , Jun 2010, Semi-Annually			0%, Brand: G Annually Upd	,	0%			
<b>Tire Category Type: Trailer</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	Call for Pricing		42%, Brand: Goodyear, Apr 1 2010, Annually		0%, Brand: G Annually Upd		0%			
SECTION J: USED TIRE PICK-UP AND DISPOSAL FEES (This Section will be awarded on the all or none basis) All tires are to be disposed in accordance to Texas Commission of Environmental Quality (TCEQ) Regulation and Requirements for Scrape Tires.										
Type: Passenger/Automotive Tires: Estimated Quantity: 400 each	\$	2.00	\$	1.25	\$	2.50	\$	2.50		
Type: Light Trucks Tires: Estimated Quantity: 300 each	\$	2.50	\$	1.25	\$	2.50	\$	3.50		
Type: Medium Duty Tires: Estimated Quantity: 75 each	\$	5.00	\$	5.00	\$	10.00	\$	6.50		
Type: Commercial Trucks Tires: Estimated Quantity: 75 each	\$	5.00	\$	5.00	\$	10.00	\$	6.50		
Type: Off Road/Construction Tires: Estimated Quantity: 15 each	\$5.00 - \$25.00		\$	5.00	Varies by size		\$	25.00		
Type: Farm/Agriculture Tires: Estimated Quantity: 15 each	\$5.00 - \$25.00		\$	5.00	Varies by size		\$	25.00		
Type: Trailer Tires: Estimated Quantity: 20 each	\$	2.50	\$	1.25	\$	2.50	\$	6.50		

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the	VENDOR #1 Southern Tire Mart	VENDOR #2 Kauffman Tire Inc.	VENDOR #3 Blagg Tire & Service	VENDOR #4 A to Z Tire & Battery Inc.
Purchase of Tires and Tubes Opening Date:06-Dec-2010	5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax	2832 Anvil Block Rd. Ellenwood, GA 30253 M. Kauffman 404.762.4944 404.767.2015 (fax)	604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax	812 W 4th , POB 9138 Amarillo, Tx 79105-9138 Philip Nussbaum 806.373.2592 806.373.6504 fax
DESCRIPTION: Es				
Specify any additional comments, deviations, cost, etc. included with your bid proposal, if applicable:	No Comments	No Comments	No Comments	Items #1 and 2 are Pirelli, Item 5 is not police pursuit rated, Item 6 is not available, Item 10 is 640 not 700., Item 36 is D not E, Item 37 is not available, Item 53 is E not F, Item 54 is not available, and Item 70 is N/A
Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:	None - Southern Tire Mart does not subcontract any portion of any bid	None	Be performed by Company Personnell	N/A
Specify Prompt/Early Payment Discount Terms (if any):	1%-10 days	0%	0%	0%
Please answer the questions listed below				
Is this an all or none bid?	No	Yes	No	No
Did your company check Dallas County website (http://www.dallascounty.org/department/purchasing/cur rentbids.html) for any addendums, updates, and/or changes to the bid solicitation?	Yes	Yes	Yes	Yes
Specify the name, telephone number and e-mail address (if any) of the designated account representative who will be managing this account:	Mr. James Allen, 214.876.0386, jallen@stmtire.com	Steve Sebastin, ssebastin@kauffmantire.com , 1-214-905-8633	Scott South - General Manager 817.538.3840, scott@blaggtire.com	Jason Bartula 214.630.1482 jbartula@atoztire.com
Specify the name, telephone number and e-mail address (if any) of the individual to contact to place orders and resolving problems with orders (if different from above):	Mr. James Allen, 214.876.0386, jallen@stmtire.com	No Comments	No Comments	No Comments
Specify your company business and delivery hours Specify the best times and hours to place orders for same day deliveries.	Monday - Friday 8am - 5pm No Comments	Monday - Friday 8am - 5:00 pm to 2:00 am for next day delivery	Monday - Friday 8am - 5pm Early Morning before 9am	Monday-Friday 8am-5pm Early Morning
Does your firm offer hot-shot service delivery?	No Comments	Yes	Yes	Yes
If yes, is their fee or charge for this service? If yes, what is that fee or charge per delivery.	No Comments No Comments	No	No NA	Yes \$ 15.00
Does your firm have a local Warehouse/Distribution Center within the Dallas/Fort Worth Metropolitan Area capable of providing the goods listed herein at the time of bid submission?	Yes	Yes	Yes	Yes
If yes, please provide the name, address, and telephone number of the nearest warehouse/distribution center below:	Southern Tire Mart, 816 W Mockingbird Ln., Dallas, Texas 75247, 214.631.7900 (office) 214.638.2715 (fax)	C/O Kauffman Tire, 1800 North Polk St., Desoto, Tx 75115-2526	604 S Main St., Grapevine, Tx 76051	A to Z Tire & Battery Inc., 1900 Lone Star Dr., Dallas, Tx 214.63.01482
Will Dallas County authorized personnel be allowed to pick-up tires and/or tubes from this warehouse/distribution center?	Yes	Yes	Yes	Yes
Briefly describe your firm/organization return policy and any applicable restocking fees (if any):	No Comments	We accept returns with no stocking fee	Returns ok provided tires are not aged or discontinued	10% if we go pick it up.

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010	VENDOR #1 Southern Tire Mart 5051 Sharp St. Dallas, Texas 75247 Bobby Harms 877.786.4681 214.389.7111 fax	VENDOR #2 Kauffman Tire Inc. 2832 Anvil Block Rd. Ellenwood, GA 30253 M. Kauffman 404.762.4944 404.767.2015 (fax)	VENDOR #3 Blagg Tire & Service 604 S. Main St. Grapevine, Tx 76051 Perry Leonard 817.481.4578 817.796.1091 fax	VENDOR #4 A to Z Tire & Battery Inc. 812 W 4th , POB 9138 Amarillo, Tx 79105-9138 Philip Nussbaum 806.373.2592 806.373.6504 fax
	st. Ity.			
Does your firm/company have the required insurance coverage stated under SECTION 3 - INSURANCE REQUIREMENTS and agree to comply with these requirements during the duration of this contract? If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?	Yes	Yes	Yes	Yes
Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?	No Comments	Yes	Yes	Yes
Information on Provision of Health Insurance Coverage for Employees Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation process (see page 4, paragraph 5). Please complete the information below to assist in this evaluation.				
a) Does your company provide health insurance coverage to its employees?	Yes	Yes	Yes	Yes
<ul> <li>b) If your company does provide health insurance</li> <li>coverage to its employees, does the company share in</li> <li>the cost a minimum of 75% for employee only coverage</li> <li>and 50% for family coverage?</li> </ul>	Yes	Yes and No , 50% Family and 50% Employee Only	Yes - Employee Only	No
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description? (See Attachment - A)	No	Yes	Yes	Yes
d) If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health insurance ouverage and shore in the acct?	No	NA	NA	No Subcontractors

coverage and share in the cost?

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes			VENDOR #5 TCI Tire Centers LLC	<b>D</b> 1		VENDOR #6 GCR Tire Center	
Opening Date:06-Dec-2010			3101 N. Houston School Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax	
DESCRIPTION:	Est. Qty.						
NCTRCA Certified Vendor (M/Wbe) EEO-1 Dallas County Taxpayer? How were you notified?			No Comment Yes Yes Email, Letter from DC & Vendor	Prior		No Comments Yes No Bid Sync. Note: Company wi	ithdrew
SECTION A: POLICE PURSUIT TIRES						bid from all items SECTION J: USE PICK-UP AND DISPOSAL FEES	-
<ol> <li>Type: Police Pursuit Tires</li> <li>Size P235/55R17</li> <li>Minimum Speed Rating/Load Range: W</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>340 AAA or better</li> <li>Band Circles Pickles (CT Benefit (Nr. Schulizer))</li> </ol>	450	each	\$	-	\$0.00	\$	88.74 \$ 39,933.00
Brand: Firestone Firehawk GT Pursuit (No Substitutes) Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed:						W 340 AAA	
Specify Manufacturer/Brand, Series and Part Number Being Proposed						Firestone Firehawk #077325	ί.
2. Type: Police Pursuit Tires Size P235/55R17 Minimum Speed Rating/Load Range: W Minimum UTQG, Temperature and Traction Rating: 260 AA or better Brand: Goodyear Eagle RSA (No Substitutes)	350	each	S	-	\$0.00	\$	99.00 \$ 34,650.00
Specify Tire UTQG, Temperature and Traction Rating Being Proposed						W 260AA	
Specify Manufacturer/Brand, Series and Part Number Being Proposed:						Goodyear Eagle RS #732002500	SA
<ol> <li>Type: Police Pursuit Tires</li> <li>Size: P225/60R16</li> <li>Minimum Speed Rating/Load Range: V or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>260 AA or better</li> <li>Brand: Continental, Firestone Firehawk, Goodyear Eagl</li> </ol>		each	\$	79.00	\$24,332.00	\$	75.50 \$ 23,254.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			97V 260AA			V 340AA	
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Pirelli P Zero Nero Mts F 4Seasons 1609300, Altern Brand: 89.00 per tire Cont Cont Extreme Contact 1547122000	ate		Firestone Firehawk #067911	PV41
<ol> <li>Type: Police Pursuit Tires</li> <li>Size: P225/60R18</li> <li>Minimum Speed Rating/Load Range: V or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>260 AA or better</li> <li>Brand: Continental, Firestone Firehawk, Goodyear</li> <li>Eagle or equal</li> </ol>	12	each	S	102.00	\$1,224.00	\$	98.95 \$ 1,187.40

Eagle or equal

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School I Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	₹d.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax			
DESCRIPTION:	Est. Qty.								
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed Specify Manufacturer/Brand, Series and Part Number			99V Continental ContiPro Con	tact		V 340AAA Firestone Firehawk	GT		
Being Proposed:			15474650000			Pursuit #077342			
5. Type: Police Pursuit Tires Size: P225/70R15 Minimum Speed Rating/Load Range: V or better Minimum UTQG, Temperature and Traction Rating: 260 AA or better Brand: Continental, Firestone Firehawk, Goodyear Eagle or equal	16 e	each	S	-	\$0.00	\$	74.00 5	5	1,184.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed						V 340AA			
Specify Manufacturer/Brand, Series and Part Number Being Proposed:						Firestone Firehawk #067938	PV41		
<ol> <li>Type: Police Pursuit Tires</li> <li>Size: 265/60R17</li> <li>Minimum Speed Rating/Load Range: H or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>260 AA or better</li> <li>Brand: Continental, Firestone Firehawk, Goodyear</li> <li>Eagle or equal</li> </ol>	16	each	S	-	\$0.00	\$	107.00 \$	•	1,712.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed						H 260AA			
Specify Manufacturer/Brand, Series and Part Number Being Proposed:						Goodyear Eagle RS 732605500	A		
SECTION B: PERFORMANCE TIRES									
<ol> <li>Type: Performance Tires</li> <li>Size P215/60R15</li> <li>Minimum Speed Rating/Load Range: V or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>440 AA or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ol>	25	each	S	89.00	\$2,225.00	S	58.70 5	5	1,467.50
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			94V 440AA			V 440AA			
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Michelin Primary MXV4	09077		Goodyear Eagle GT #100849277	7		
<ol> <li>Type: Performance Tires</li> <li>Size 215/60R16</li> <li>Minimum Speed Rating/Load Range: H or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>460 AA or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodwart Michelin Piralli or acual</li> </ol>	40	each	S	81.00	\$3,240.00	\$	70.00 \$	5	2,800.00
Goodyear, Michelin, Pirelli or equal Specify Tire Speed Rating Being Proposed			93T			Н			

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School I Lancaster, Tx 75134 James Evans 972.228.8280	₹d.	VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047	
			972.228.8798 fax		972.579.0346 fax	
DESCRIPTION:	Est. Qty.					
Specify Tire UTQG, Temperature and Traction Rating			460AA		460AA	
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Michelin Harmony 05732		Firestone Firehawk #076798	GT
SECTION C: PASSENGER TIRES						
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/70R15</li> <li>Minimum Speed Rating/Load Range and Index: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 560 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal</li> </ol>	20 0	each	S	79.00 \$1,580.00	\$	66.95 \$ 1,339.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			95S 560AA		S 560AB	
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Michelin Symmetry 51587	7	Firestone FR710 #	047150
<ol> <li>Type: Passenger Highway Tread</li> <li>Size P205/75R14</li> <li>Minimum Speed Rating/Load Range: S or better Minimum UTQG, Temperature and Traction Rating: 700 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal</li> </ol>	4	each	\$	68.00 \$272.00	\$	56.47 \$ 225.88
Specify Tire Load Index Being Proposed Specify Tire Load Index Being Proposed: Specify Tire UTQG, Temperature and Traction Rating			958 95 -1521 pounds 700 AB		S 95 700AB	
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Michelin Harmony 04985		Goodyear Ultra Gri #766728405	р
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/70R15</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 500</li> <li>AB or better</li> <li>Brand: Firestone, Bridgestone, Continental, General,</li> <li>Goodyear, BF Goodrich, Michelin, Uniroyal or equal</li> <li>Specify Tire Speed Rating Being Proposed</li> </ol>	8	each	\$ 95T	53.00 \$424.00	\$ S	66.95 \$ 535.60
Specify Tire UTQG, Temperature and Traction Rating Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			500 AB BF Goodrich Traction T/A	x 81465	S 560AB Firestone FR710 #0	)47150

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School R Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	łd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax			
DESCRIPTION:	Est. Qty.								
12. Type: Passenger Highway Tread Size P215/70R15 Minimum Speed Rating/Load Range: T or better Minimum UTQG, Temperature and Traction Rating: 600 AB or better Brand: Firestone, Bridgestone, Continental, General, Goodyear, BF Goodrich, Michelin, Uniroyal or equal	4	each	S	50.00	\$200.00	\$	73.00	\$	292.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			97T 600 AB			T 640AB			
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Uniroyal Tiger Paw WSW 93625	Touring	2	Bridgestone Turanza EL400 #045059	ı		
<ul> <li>13. Type: Passenger</li> <li>Highway Tread</li> <li>Size P215/65R16</li> <li>Minimum Speed Rating/Load Range: T or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 440</li> <li>AB or better</li> <li>Brand: Firestone, Bridgestone, Continental, General,</li> <li>Goodyear, BF Goodrich, Michelin, Uniroyal or equal</li> </ul>	4	each	S	54.00	\$216.00	S	73.00	\$	292.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			98T 440 AB			T 440AB			
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Uniroyal Tiger Paw Tourin 81808	g		Firestone FR690 #0	58115		
<ul> <li>14. Type: Passenger</li> <li>Highway Tread</li> <li>Size P215/75R15</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>480 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Speed Rating Being Proposed</li> <li>Specify Tire UTQG, Temperature and Traction Rating</li> <li>Being Proposed</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> </ul>	12	each	\$ 100S 480AB Uniroyal TP AS 6000 8500		\$600.00	\$ S 480 AB Firestone Destination	80.00 n LE	\$	960.00
Being Proposed:	60	each	\$	56.00	\$3,360.00	#1476931 \$	72.00	¢	4 320 00
<ul> <li>15. Type: Passenger</li> <li>Highway Tread</li> <li>Size P215/60R16</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 400</li> <li>AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Speed Rating Being Proposed</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> <li>Being Proposed:</li> </ul>		cacil	94S Uniroyal TP AS 6000 568			T Firestone FR710 #03		ۍ	4,320.00

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School J Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax		
DESCRIPTION:	Est. Qty.							
<ul> <li>16. Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/60R16</li> <li>Minimum Speed Rating/Load Range: H or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>400 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	20	each	S	55.00	\$1,100.00	\$	76.90	\$ 1,538.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			91T 440 AB			H 560AB		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Uniroyal TP Touring 2989	91		Firestone Precision #140854	Touring	
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size P205/65R15</li> <li>Minimum Speed Rating/Load Range: H or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>400 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> </ol>	6	each	S	48.00	\$288.00	S	69.00	\$ 414.00
Goodyear, Michelin, Pirelli or equal Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating			92T 400 AB			H 460 AA		
Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Uniroyal TP Touring 5243	30		Firestone Firehawk #076747	GT	
<ol> <li>Type: Passenger</li> <li>Highway Tread</li> <li>Size 255/70R16</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>480 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ol>	8	each	S	81.00	\$648.00	\$	75.00	\$ 600.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			101S 480 AB			S 480AB		
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Uniroyal Laredo Cross Co 59382	ountry		Firestone Desitnation#147560	on LE	
<ol> <li>Type: Passenger</li> <li>All Season Tread</li> <li>Size P225/60R17</li> <li>Minimum Speed Rating/Load Range: S or better</li> <li>Minimum UTQG, Temperature and Traction Rating:</li> <li>460 AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ol>	4	each		70.00	\$280.00	\$	86.90	\$ 347.60
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			92S 460 AB Uniroyal Tiger Paw AS65	21774		T 560AB Firestone FR710 #	138253	

SECTION D: LIGHT TRUCK TIRES

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School I Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	۲d.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax	
DESCRIPTION:	Est. Qty.						
20. Type: Light Truck Highway Tread Size: P235/75R16 Extra Load: XL Minimum Speed Rating/Load Range: S or better Minimum UTQG, Temperature and Traction Rating: 480 AB or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	8	each	S	71.26	\$570.08	\$	92.00 \$ 736.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed			109S 480 AB			S 480AB	
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Uniroyal Laredo AWR XL	. 59223		Firestone Destination#054358	on LE
21. Type: Light Truck All Terrain Size: P255/65R17 Minimum Speed Rating/Load Range: T or better Minimum UTQG, Temperature and Traction Rating: 500 AB or better Brand: Bridgestone, Continental, Firestone, General,	20	each	S	100.00	\$2,000.00	\$	108.95 \$ 2,179.00
Goodyear, Michelin, Pirelli or equal Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			108T 500 AB BF Goodrich Long Trail T 08921	/A Tour		T 500AB Bridgestone Dueler Revo #081660	A/T
<ul> <li>22. Type: Light Truck</li> <li>Highway Tread</li> <li>Size: 235/70R16</li> <li>Minimum Speed Rating/Load Range: T or better</li> <li>Minimum UTQG, Temperature and Traction Rating: 400</li> <li>AB or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> </ul>	4	each		85.41	\$341.64	\$	91.00 \$ 364.00
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			104T 460AB BF Goodrich Long Trail T 29909	/A Tour		T 640AA Bridgestone Dueler 422 #122766	H/L
23. Type: Light Truck Highway Tread Size: 245/70R17 Minimum Speed Rating/Load Range: S or better Minimum UTQG, Temperature and Traction Rating: 420 AB or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	12	each		99.00	\$1,188.00	\$	90.90 \$ 1,090.80
Specify Tire Speed Rating Being Proposed Specify Tire UTQG, Temperature and Traction Rating Being Proposed Specify Manufacturer/Brand, Series and Part Number Being Proposed:			108T 440AB BF Goodrich Long Trail T 31653	/A Tour	·	S 480AB Firestone Destinatio #087389	on LE

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School I Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax	
DESCRIPTION:	Est. Qty.						
24. Type: Light Truck Highway Tread Size LT225/75R16 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	48	each	\$	95.00	\$4,560.00	\$	81.00 \$ 3,888.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			115Q Uniroyal Laredo HD/H 80	288		E, 115R Firestone Transforc #189752	e HT
<ul> <li>25. Type: Light Truck</li> <li>Highway Tread</li> <li>Size LT235/75R15</li> <li>Minimum Load and Index Range: C or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Load and Index Range Being Proposed:</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> <li>Being Proposed:</li> </ul>	16	each	\$ 101R Uniroyal Laredo Cross Co LT 72786		\$1,232.00	\$ C, 104R Firestone Transforc #189837	84.00 \$ 1,344.00 e HT
26. Type: Light Truck Highway Tread Size LT235/85R16 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:	32	each			\$2,880.00	\$ E, 120R Firestone Transforc #189718	84.00 \$ 2,688.00 e HT
27. Type: Light Truck Highway Tread Size LT245/70R17 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:	4	each	\$ 116Q LR E BF Goodrich Commercial 36093		\$452.00	\$ E, 119R Firestone Transforc #191316	101.00 \$ 404.00 e HT
<ul> <li>28. Type: Light Truck</li> <li>Highway Tread</li> <li>Size LT245/75R16</li> <li>Minimum Load and Index Range: E or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Load and Index Range Being Proposed:</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> <li>Being Proposed:</li> </ul>	132	each	\$ LRE 120Q Uniroyal Loredo H/DH 5:		\$11,880.00	\$ E, 120R Firestone Transforc #189769	94.00 \$ 12,408.00 e HT
29. Type: Light Truck Highway Tread Size LT245/70R17 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	5	each	\$	112.00	\$560.00	S	102.00 \$ 510.00

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax		
DESCRIPTION:	Est. Qty.							
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			116Q LR E BF Goodrich Commercial A/S 36093	T/A		E, 119R Firestone Transford #191316	ce HT	
30. Type: Light Truck Highway Tread Size LT245/75R17 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:	20	each	\$ 118Q LR E BF Goodrich Commercial 49713		\$2,140.00	\$ E, 121R Firestone Transfore #207483		\$ 2,080.00
<ul> <li>31. Type: Light Truck</li> <li>Highway Tread</li> <li>Size LT265/75R16</li> <li>Minimum Load and Index Range: E or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Load and Index Range Being Proposed:</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> <li>Being Proposed:</li> </ul>	8	each			\$872.00	\$ E, 123R Firestone Transford #189786	89.00 ce HT	\$ 712.00
<ul> <li>32. Type: Light Truck</li> <li>All Terrain</li> <li>Size LT265/75R16</li> <li>Minimum Load and Index Range: E or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Load and Index Range Being Proposed:</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> <li>Being Proposed:</li> </ul>	4	each	\$ 123Q LR E BF Goodrich Commercial 52075		\$436.00	\$ E,123R Firestone Transford #189599	91.00 ce A/T	\$ 364.00
<ul> <li>33. Type: Light Truck</li> <li>Highway Tread</li> <li>Size LT265/70R17</li> <li>Minimum Load and Index Range: E or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Load and Index Range Being Proposed:</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> <li>Being Proposed:</li> </ul>	20	each	\$ 118Q LR E BF Goodrich Commercial 82383		\$2,600.00	\$ E, 121R Firestone Transford #200156		\$ 2,180.00
<ul> <li>34. Type: Light Truck</li> <li>All Terrain</li> <li>Size LT265/70R17</li> <li>Minimum Load and Index Range: E or better</li> <li>Brand: Bridgestone, Continental, Firestone, General,</li> <li>Goodyear, Michelin, Pirelli or equal</li> <li>Specify Tire Load and Index Range Being Proposed:</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> <li>Being Proposed:</li> </ul>	4	each	\$ 118Q 121 LRE 82383 BF Goodrich Commercial 82383		\$520.00	\$ E, 121R Firestone Transford #200190	114.00 ce A/T	\$ 456.00

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax		
DESCRIPTION:	Est. Qty.							
35. Type: Light Truck All Terrain Size LT275/65R18 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	30	each	S	180.00	\$5,400.00	\$	126.70	\$ 3,801.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			123/120 R LR E Michelin LTX A/T 2, 84	279		E, 120S Firestone Transfor #200207	rce A/T	
36. Type: Light Truck All Terrain Size LT325/60R18 Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	4	each	S	-	\$0.00	\$	152.00	\$ 608.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:						E, 127R (325/65) Firestone Destinat #192353	· · · ·	
37. Type: Light Truck Highway Tread Size: 9.50R16.5 LT Minimum Load and Index Range: E or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	2	each	S	145.00	\$290.00	\$	99.00	\$ 198.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR E Power King Radial			E,121R Firestone Transfor #189820	rce HT	
SECTION E: MEDIUM AND COMMERCIAL TRUCK TIRES								
<ol> <li>Type: Medium and Commercial Truck Tires Tube Type</li> <li>Position: Steer/all-position</li> <li>Size: 10R20</li> <li>Minimum Load and Index Range: H or better</li> <li>Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ol>	20	each	\$	282.00	\$5,640.00	S	313.00	\$ 6,260.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H Michelin XZE2 01889			H, 16PR Firestone FS560 F #294497	Plus	
39. Type: Medium and Commercial Truck Tires Position: All Position Highway Size: 10.00R20 Minimum Load and Index Range: G or better Brand: Bridgestone, Continental, Firestone, General, Goodyear, Michelin, Pirelli or equal	4	each	S	282.00	\$1,128.00	S	313.00	\$ 1,252.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H Michelin XZE2 01889			H, 16PR Firestone FS560 F #294497	Plus	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax			
DESCRIPTION:	Est. Qty.								
40. Type: Medium and Commercial Truck Tires Position: Drive Axle Tube Type Size: 10R20 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	18	each	S	282.00	\$5,076.00	\$	279.00 \$	5,0	022.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H Michelin XZE2 01889			H, 16PR Firestone T546 #.	294721		
41. Type: Medium and Commercial Truck Tires Position: All Position Tubeless Size: 10R22.5 Minimum Load and Index Range: G or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	8	each		282.00	\$2,256.00	\$	241.00 \$	1,9	28.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H Michelin XZE2 01889			G, 14PR Firestone FS560 F #193050	Plus		
42. Type: Medium and Commercial Truck Tires Position: Steer/All Position Sidewall protector ribs Size: 11R22.5 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	12	each	S	260.00	\$3,120.00	\$	266.00 \$	3,1	92.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H BFG ST230 68045			H, 16PR Firestone FS560 F #156558	Plus		
43. Type: Medium and Commercial Truck Tires Position: Steer/All Position Protector ribs on both sidewalks Size: 11R22.5 Minimum Load and Index Range: G or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	4	each	S	260.00	\$1,040.00	\$	257.50 \$	1,0	930.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H BFG ST230 68045			G, 14PR Firestone FS560 F #156531	Plus		
44. Type: Medium and Commercial Truck Tires Position: Drive Axle Size: 11R22.5 Minimum Load and Index Range: G or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	4	each	S	290.00	\$1,160.00	\$	248.00 \$	ç	992.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR G BF Goodrich DR444 77	081		G, 14PR Firestone FD663	#281042		

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax	
DESCRIPTION:	Est. Qty.						
<ul> <li>45. Type: Medium and Commercial Truck Tires Position: Steer/All Position Sidewall protector ribs Size: 11R24.5</li> <li>Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ul>	92	each	S	280.00	\$25,760.00	\$	282.00 \$ 25,944.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H BF Goodrich ST230 791	84		H, 16PR Bridgestone R250 #206990	ED,
<ul> <li>46. Type: Medium and Commercial Truck Tires</li> <li>Position: Steer/All Position</li> <li>Protector ribs on both sidewalks</li> <li>Size: 12R22.5</li> <li>Minimum Load and Index Range: H or better</li> <li>Brand: Bridgestone, Continental, Firestone, Goodyear,</li> <li>Michelin, Yokohama or equal</li> </ul>	4	each	S	310.00	\$1,240.00	\$	305.00 \$ 1,220.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H BF Goodrich ST230 632	23		H, 16PR Firestone FS560PI #156523	lus
47. Type: Medium and Commercial Truck Tires Position: Steer/All Position Protector ribs on both sidewalks Size: 225/70R19.5 Minimum Load and Index Range: F or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	24	each	S	180.00	\$4,320.00	\$	202.49 \$ 4,859.76
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR G BF Goodrich ST230 742	08		F, 12PR Firestone FS560 P #160716	lus
<ul> <li>48. Type: Medium and Commercial Truck Tires Position: Steer/All Position Sidewall protector ribs Size: 245/70R19.5 Minimum Load and Index Range: F or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ul>	8	each	S	210.00	\$1,680.00	\$	208.00 \$ 1,664.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR G BF Goodrich ST230 896	88		F, 12PR Firestone FS560 P #169981	lus
49. Type: Medium and Commercial Truck Tires Position: Steer/All Position Protector ribs on both sidewalks Size: 245/70R19.5 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	8	each	\$	210.00	\$1,680.00	\$	246.00 \$ 1,968.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR G BF Goodrich ST230 896	88		H, 16PR Bridgestone R250 #227295	F,

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax		
DESCRIPTION:	Est. Qty.							
50. Type: Medium and Commercial Truck Tires Position: Steer Sidewall protector ribs Size: 255/70R22.5 Minimum Load and Index Range: H or better Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal	8	each	S	230.00	\$1,840.00	\$	224.00	\$ 1,792.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR H BF Goodrich ST230 959	71		H, 16PR Firestone FS560Ph #192982	us	
<ul> <li>51. Type: Medium and Commercial Truck Tires Position: Steer/All Position</li> <li>Sidewall protector ribs</li> <li>Size: 295/75R22.5</li> <li>Minimum Load and Index Range: G or better</li> <li>Brand: Bridgestone, Continental, Firestone, Goodyear, Michelin, Yokohama or equal</li> </ul>	4	each	S	260.00	\$1,040.00	\$	247.00	\$ 988.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR G BF Goodrich ST230 506	14		G, 14PR Firestone FS560Ph #156566	us	
<ul> <li>52. Type: Medium and Commercial Truck Tires</li> <li>Size: 11.00R22</li> <li>Minimum Load and Index Range: H or better</li> <li>Brand: Bridgestone, Continental, Firestone, Goodyear,</li> <li>Michelin, Yokohama or equal</li> <li>Specify Tire Load and Index Range Being Proposed:</li> <li>Specify Manufacturer/Brand, Series and Part Number</li> <li>Being Proposed:</li> </ul>	6	each	S	-	\$0.00	\$ H, 16PR Firestone T819 #29		\$ 1,968.00
SECTION F: OFF ROAD /CONSTRUCTION/AGRICULTURE/INDUSTRIA /SPECIALTY EOUIPMENT TIRES	L							
53. Type: Off-Road/Construction Equipment Skid Steer Loader Tire Size: 12-16.5NHS Minimum Load and Index Range: F or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	8	each	\$	239.00	\$1,912.00	\$	300.00	\$ 2,400.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LRE 10 Ply 5600 Titan Ultimate 49U3J7			12 PR Firestone DuraFord	ce DT	
54. Type: Off-Road/Construction Equipment Tire Compactor Roller Tread Type: Smooth/Slick Size: 8.50/90-15K Minimum Load and Index Range: C or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	8	each	\$	245.00	\$1,960.00	S	-	\$ -
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR C Michelin X-Lisse 12568					

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax		
DESCRIPTION:	Est. Qty.							
<ul> <li>55. Type: Off-Road/Construction Equipment Tire Road Grader Tire Tread Type: Traction Size: 14.00R24</li> <li>Ply Rating: 1 Star or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number</li> </ul>	12	each	\$ G2,L2 Michelin XGLA2 15924		\$9,600.00	\$ 1* Bridgestone VUT (		\$ 8,748.00
Being Proposed:			Michelli XOLA2 13924			#293954	J2/L2	
56. Type: Type: Agriculture/Industrial Equipment 3 Rib Size: 6.00-16 Minimum Load and Index Range: C or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	2	each	\$	120.00	\$240.00	\$	70.00	\$ 140.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR D Titan Agri Rib 3 Rib			C, 6PR Regency AG Front #378253	3 Rib	
57. Type: Type: Agriculture/Industrial Equipment 3 Rib Size: 7.50-16 Minimum Load and Index Range: D or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	2	each	S	140.00	\$280.00	\$	123.00	\$ 246.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR D Firestone AG 3 Rib			D, 8PR Firestone Champio Grip 3 Rib #37471		
58. Type: Loader Tire Tread Type: Traction Size: 10.00-16.5 Minimum Load and Index Range: E or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	2	each	\$	250.00	\$500.00	\$	155.00	\$ 310.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR E Michelin XZSL 56324			D, 8PR Firestone Duraforc #362123	e HD	
59. Type: Loader Tire Tread Type: Traction Size: 20.5-25 Minimum Load and Index Range: H or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal	2	each		,	\$4,000.00	\$	922.00	\$ 1,844.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Michelin XHA L3 31836 Michelin XHA			H, 16PR Firestone SGG E2 #408492	2/L2	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston Schoo Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	əl Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwylet Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax		
DESCRIPTION:	Est. Qty.							
60. Type: Loader/Grader Tire Tread Type: Traction Size: 23.5-25 Minimum Load and Index Range: H or better Brand: Armour, Bridgestone, Carlisle, Goodyear,	6	each	\$	3,000.00	\$18,000.00	\$	1,126.00 \$	6,756.00
Michelin, Samson, Titian, Toyo or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Michelin XHA L3 3082 Michelin XHA 30826	26		H, 16PR Firestone SGG E2 #405221	2/L2	
61. Type: Loader/Grader Tread Type: Rock Size: 15.5-25 Minimum Load and Index Range: F or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number	2	each	\$ L3 Michelin XHA 25042	1,000.00	\$2,000.00	\$ F, 12PR Duramax Rock Li	580.00 \$ ug E-3,	1,160.00
Being Proposed: 62. Type: Off-Road/Construction Equipment Compactor Tire - Bias Tread Type: Smooth/Slick Size: 7.5-15 Minimum Load and Index Range: F or better Brand: Armour, Bridgestone, Carlisle, Goodyear, Michelin, Samson, Titian, Toyo or equal Specify Tire Load and Index Range Being Proposed:	24	each	\$ LR E	138.00	\$3,312.00	#100-120-240 \$ F. 12PR	195.00 \$	4,680.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Titan Smooth Roller			Carlisle Compact #58R252	or	
SECTION G: TRAILER TIRES 63. Type: Trailer Bias Size: 9.50 x 16.5 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:	6	each	\$ LRE 3170 Tow Master 950165E	145.00	\$870.00	\$ E, 10PR Deestone D902 F	112.50 \$ Iwy #1295	675.00
64. Type: Trailer Radial Size: 10.00R15 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:	12	each	\$ LR J Michelin XTA 70667	290.00	\$3,480.00	\$ J, 18PR Powerking TR612 #CZ-62	300.00 \$ 5 Hwy,	3,600.00
65. Type: Trailer Radial Size: ST185/R14 Minimum Load and Index Range: D or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal Specify Tire Load and Index Range Being Proposed:	4	each	\$ LR D	72.48	\$289.92	\$ D, 8PR	65.00 \$	260.00

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax		
DESCRIPTION:	Est. Qty.							
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Carlisle Sport Trail Traile	rs ST		Federal ER-01 #37	8C4AJ	
66. Type: Trailer Radial Size: ST225/75R15 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	4	each	\$	80.84	\$323.36	\$	96.00	\$ 384.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR E Carlisle Sport Trail Traile	r ST		E, 10PR Carlisle Rad Trail #5198221		
67. Type: Trailer Radial Size: ST205/75R15 Minimum Load and Index Range: C or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal Specify Tire Load and Index Range Being Proposed:	4	each	\$ LR D	65.00	\$260.00	\$ C	69.00	\$ 276.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Carlisle Sport Trail Traile	r ST		Carlisle Rad Trail #5198152		
68. Type: Trailer Radial Size: ST205/75R15 Minimum Load and Index Range: D or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	4	each		65.00	\$260.00	\$	82.00	\$ 328.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR D Carlisle Sport Trail Trail	er ST		D, 8PR Carlisle Rad Trail #5198081		
69. Type: Trailer Bias Size: ST205/75D14 Minimum Load and Index Range: C or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	2	each	\$	62.00	\$124.00	\$	57.00	\$ 114.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR C Carlisle Sport Trail Traile	r Tire SI	ſ	C, 6PR Deestone D901, DS	37277	
70. Type: Trailer Bias Size: ST195/75D14 Minimum Load and Index Range: C or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	2	each	\$	82.00	\$164.00	\$	62.00	\$ 124.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR D 8 ply Carlisle Sure Trail ST			C, 6PR Carlisle Sure Trail #	¥519306	
71. Type: Trailer Radial Size: ST235/80R16 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	12	each	\$	120.00	\$1,440.00	\$	94.00	\$ 1,128.00
Brand: Carlisle, Goodyear, Maxxis, Itilan or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR E Tow Master TWTro 1623	5E		E, 10PR Supermax Tri ST # 6006-TA	STR-	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010			VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School 1 Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax			
DESCRIPTION:	Est. Qty.								
72. Type: Trailer Bias Size: 7.50-16 Minimum Load and Index Range: E or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:	4	each	S LR E 10 ply Carlisle Sport Trail Traile		\$380.00	\$ E, 10PR Supermax Hwy 57 4005A-2W	75.00 #STB-	\$	300.00
73. Type: Trailer Bias Size: 700-15LT Minimum Load and Index Range: D or better Brand: Carlisle, Goodyear, Maxxis, Titian or equal	4	each	S	102.00	\$408.00	\$	103.00	\$	412.00
Specify Tire Load and Index Range Being Proposed: Specify Manufacturer/Brand, Series and Part Number Being Proposed:			LR D 8 ply Carlise Sport Trail Trailer	ST		F, 12PR Deestone D902 #D	\$6320		
SECTION H: TUBES									
74. Type: Tube Size: 7.50 x 15 w/TR440 Valve Stem Brand: Carlisle, Goodyear, National, Solid, or equal	20	each	\$	19.00	\$380.00	\$	17.00	\$	340.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Carlisle Tube 322450			Firestone Tube #53	38655		
75. Type: Tube Size: 10.00R15 Brand: Carlisle, Goodyear, National, Solid, or equal Specify Manufacturer/Brand, Series and Part Number	12	each	\$ Carlisle TR13 Valve, 10/		\$276.00	\$ Firestone Tube #52	25.00	\$	300.00
Being Proposed:			LT 322310	111 15		Thestone Tube #52	2029		
76. Type: Tube Size: 10.00R20	20	each	\$	24.00	\$480.00	\$	24.00	\$	480.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			Carlisle TR444 Valve, 10 322100	.00R 20	)	Firestone Tube #54	40234		
77. Type: Tube Size: 11R20 Brand: Carlisle, Goodyear, National, Solid, or equal Specify Manufacturer/Brand, Series and Part Number	6	each	S	-	\$0.00	\$ Firestone Tube #54	31.00 40242	\$	186.00
Being Proposed:									
78. Type: Tube Size: 11R22 Brand: Carlisle, Goodyear, National, Solid, or equal Specify Manufacturer/Brand, Series and Part Number Being Proposed:	6	each	S	-	\$0.00	\$ Firestone Tube #54	29.00 40250	\$	174.00
79. Type: Tube Size: 112-12.41 x 28 Brand: Carlisle, Goodyear, National, Solid, or equal	4	each	\$	52.00	\$208.00	\$	30.00	\$	120.00
Specify Manufacturer/Brand, Series and Part Number Being Proposed:			TU 13590, ITT Valve TR2 (11.2 12.4 x 28)	218A		Firestone Tube #55			
						D	- 26 of 4	0	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010		VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Rd. Lancaster, Tx 75134 James Evans 972.228.8280 972.228.8798 fax	VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax
DESCRIPTION:	Est. Qty.		
SECTION I: DISCOUNT FOR TIRES/TUBES THAT ARE NOT SPECIFICALLY LISTED IN THE BID (Note: This Section will be awarded on the all or none basis) Bidders are to state the percentage of discount allowed for all tires/tubes offered from the published price list, sheet and/or schedule. Note: Not all tires/ tubes required by the County are listed on the bid proposal sheet. The County will use the price list, sheet and/or schedule and discount offered by the awarded contractor for those sizes and types not listed.			
<b>Tire Category Type: Police Pursuit</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Update (i.e. quarterly, semi-annually, annually):	d	1) 50% - Brand: Michelin, March 2010, Oct 2010 - Annually 2) 45% - Brand: Continental, July 2010, Semi-Annually	44%, Brand: F/S Gov/t Catalog, Jan 1 2010, Annually
Tire Category Type: Performance/High Speed Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Update (i.e. quarterly, semi-annually, annually):	d	50% - Brand: Michelin, March 2010, Oct 2010 - Annually	18%, Brand: F/S Govt Catalog, Jan 1 2010, Annually
Tire Category Type: Passenger Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Update (i.e. quarterly, semi-annually, annually):	d	50% - Brand: Michelin, March 2010, Oct 2010 - Annually	18%, Brand: F/S Gov't Catalog, Jan 1 2010, Annually
Tire Category Type: Light Truck Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Update (i.e. quarterly, semi-annually, annually):	d	50% - Brand: Michelin, March 2010, Oct 2010 - Annually	18%, Brand: F/S Gov't Catalog, Jan 1 2010, Annually
Tire Category Type: Medium Truck Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Update (i.e. quarterly, semi-annually, annually):	d	50% - Brand: Michelin, March 2010, Oct 2010 - Annually	15%, Brand: F/S Gov't Catalog, Jan 1 2010, Annually
Tire Category Type: Commercial Truck Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Update (i.e. quarterly, semi-annually, annually):	d	50% - Brand: Michelin, March 2010, Annually	15%, Brand: F/S Gov't Catalog, Jan 1 2010, Annually

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010		VENDOR #5 TCI Tire Centers LI 3101 N. Houston So Lancaster, Tx 7513- James Evans 972.228.8280 972.228.8798 fax	chool Rd.		VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax	
DESCRIPTION:	Est. Qty.					
Tire Category Type: Off -The-Road/Construction Truck Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):	1	50% - Brand: Mich 2010, Annually	elin, March		13%, Brand: F/S G Catalog, Jan 1 2010 Annually	
Tire Category Type: Farm/Agriculture Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):		45% - Brand: Michelin, March 2010, Annually		15%, Brand: F/S Go∨t Catalog, Jan 1 2010, Annually		
<b>Tire Category Type: Trailer</b> Discount off Published Manufacturer's Price List: Name of the Manufacturer's List Price: Date of the Manufacturer's List Price: How frequently is the Manufacturer's List Price Updated (i.e. quarterly, semi-annually, annually):		35% - Brand: Carlisle, Feb 2010, Annually		18%, Brand: F/S Govt Catalog, Jan 1 2010, Annually		
SECTION J: USED TIRE PICK-UP AND DISPOSAL FEES (This Section will be awarded on the all or none basis) All tires are to be disposed in accordance to Texas Commission of Environmental Quality (TCEQ) Regulation and Requirements for Scrape Tires.						
Type: Passenger/Automotive Tires: Estimated Quantity: 400 each		\$	5.00		\$	2.00
Type: Light Trucks Tires: Estimated Quantity: 300 each		\$	5.00		\$	2.00
Type: Medium Duty Tires: Estimated Quantity: 75 each		\$	7.00		\$	4.00
Type: Commercial Trucks Tires: Estimated Quantity: 75 each		\$	7.00		\$	4.00
Type: Off Road/Construction Tires: Estimated Quantity: 15 each		\$	20.00		\$	15.00
Type: Farm/Agriculture Tires: Estimated Quantity: 15 each		\$	10.00		\$	10.00
Type: Trailer Tires: Estimated Quantity: 20 each		\$	5.00		\$ N. Cl	-
Specify any additional comments, deviations, cost, etc. included with your bid proposal, if applicable:		No Comments			No Charge No Comments	
Should your firm be awarded this contract, describe what (if any) portion of the bid requirements will be subcontracted out:		NA			0%	
Specify Prompt/Early Payment Discount Terms (if any):		0%-30 Days			0%	

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010		VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Rd. Lancaster, Tx 75134	VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061
		James Evans 972.228.8280 972.228.8798 fax	Jarrod Turner 972.880.4047 972.579.0346 fax
DESCRIPTION:	Est. Qty.		
Please answer the questions listed below			
Is this an all or none bid?		No	No
Did your company check Dallas County website (http://www.dallascounty.org/department/purchasing/cur rentbids.html) for any addendums, updates, and/or changes to the bid solicitation?		Yes	Yes
Specify the name, telephone number and e-mail address (if any) of the designated account representative who will be managing this account:		James Evans James.Evans@tirecenter.com 214 837.8851	Jarrod Turner 972.880.4047, jarrodturner@gertires.com
Specify the name, telephone number and e-mail address (if any) of the individual to contact to place orders and resolving problems with orders (if different from above):		Jim Hall Jim.Hall@tirecenters.com 972.228.8280	No Comments
Specify your company business and delivery hours		Monday - Friday 7am - 5pm	Monday - Friday 730am - 5pm
Specify the best times and hours to place orders for same day deliveries.		7am - 2pm	9:00 AM
Does your firm offer hot-shot service delivery? If yes, is their fee or charge for this service? If yes, what is that fee or charge per delivery.		Yes No	Yes No
Does your firm have a local Warehouse/Distribution Center within the Dallas/Fort Worth Metropolitan Area capable of providing the goods listed herein at the time of bid submission?		Yes	Yes
If yes, please provide the name, address, and telephone number of the nearest warehouse/distribution center below:		TCI 3101 N. Houston School Rd., Lancaster, Tx 75134, 972.228.8280	GCR Tire Center, 3034 E Grauwyler , Irving, Tx 75061, 972.880.4047
Will Dallas County authorized personnel be allowed to pick-up tires and/or tubes from this warehouse/distribution center?		Yes	Yes
Briefly describe your firm/organization return policy and any applicable restocking fees (if any):		Returns with no restocking fees within 10 days of delivery	Tires may be returned if unused and unmounted . There is no restocking fee.
Does your firm/company have the required insurance coverage stated under SECTION 3 - INSURANCE REQUIREMENTS and agree to comply with these requirements during the duration of this contract? If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?		Yes	Yes
Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agree that all terms, conditions, specifications, and pricing would apply to that entity?		Yes	Yes

TABULATION SHEET Bid No. 2011-025-5349 Annual Contract for the Purchase of Tires and Tubes Opening Date:06-Dec-2010	VENDOR #5 TCI Tire Centers LLC 3101 N. Houston School Rd. Lancaster, Tx 75134 James Evans 972.228.8798 fax	VENDOR #6 GCR Tire Center 3034 E Grauwyler Irving, Tx 75061 Jarrod Turner 972.880.4047 972.579.0346 fax
DESCRIPTION:	Est. Qty.	
<ul> <li>Information on Provision of Health Insurance Coverage for Employees</li> <li>Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation process (see page 4, paragraph 5). Please complete the information below to assist in this evaluation.</li> <li>a) Does your company provide health insurance coverage to its employees?</li> <li>b) If your company does provide health insurance coverage to its employees, does the company share in the cost a minimum of 75% for employee only coverage and 50% for family coverage?</li> </ul>	Yes Yes	Yes Yes
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description? (See Attachment - A)	Yes	Yes
d) If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health insurance coverage and share in the cost?	e Yes	Yes